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2.608 x 10 =

1.889 x 100 =

8411 x 10 =

10.198 x 100 =

6.894 x 1000 =

6.593 x 10 =

9.908 x 100 =

7.252 x 10 =

4.429 x 1000 =

9.822 x 10 =

9.774 x 10 =

=N

3.065 x 1000 =

3.287 x 10 =

7.041 x 1000 =

4.333 x 1000 =

5.79 x 1000 =

4011 x10 =

5.993 x 1000 =

1.512 x 1000 =

10.31 x 10 =
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2.608 x 10 = 26.08

1.889 x 100 = 188.9

8411 x 10 = 84.11

10.198 x 100 = 1019.8

6.894 x 1000 = 6894

6.593 x 10 = 65.93

9.908 x 100 = 990.8

7.252 x 10 = 72.52

4.429 x 1000 = 4429

9.822 x 10 = 98.22

=LA

9.774 x 10 = 97.74

3.065 x 1000 = 3065

3.287 x 10 = 32.87

7.041 x 1000 = 7041

4.333 x 1000 = 4333

5.79 x 1000 = 5790

4.011 x 10 =40.11

5.993 x 1000 = 5993

1.512 x 1000 = 1512

10.31 x 10 = 103.1
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